"113-2 HF * B w] it K

- o BEE

T4 (IEP) #3 E 114-1 94 IEP €%, (R* )

- RegrEIFHR-RR(FAFVHREL2)

= ~RBREPRF 1 114/6/26 (w ) f06/27 (3 ) FLT 4 o

e gt T1I3-248 & Bl it v 3] (IEP) #34 F 114-1 #4- [EP € & 4

M- £

2= T % # ¢ Bt
62 26p (=) %= (102~ 109 -~ 112 —H-HsAE YRz 1
67 26p (=) %z & |103- 104 -~ - AEYREL
6 26p (=) %= & 117 —hH-BFAEY xRz 1
67 27p () %- &/[101- 107~ 108 ~ 111 - AEYREL
6" 27p ()%= & |106 -~ 110~ 113 - AV REL
6% 27p (1) %= [105~ 116 ZH-HsAE YRz
67" 27p (1) %w& 115 - AEY R
o OE K

P R FL& LR Rl
6° 260 (=) %= & (204211 - AEYHE 2
6% 26p (=) %=8& 202212 - AEYHE2
67 26p () %z & |203-205- 210 SH-AEY KE 2
6% 27p (I)%=4&|208 - AEYHE2
67 27p (I)%=8&/[201~209 - AEY %E 2
6% 27p (1) %= | 206- 207 SH-FAEY RF 2



https://special.moe.gov.tw/study_login.php?id=590085
https://special.moe.gov.tw/study_login.php?id=590085

